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QUESTION 1

A user makes the following request:"I need to see actual sales compared with projected sales,and margin range for
branches within each division, by product line, sales rep by sales manager,and cost center over time." 

Which of the following is a dimension identified by the request? 

A. Cost 

B. Margin Range 

C. Actual / Projected 

D. Sales Range 

Correct Answer: B 

 

 

QUESTION 2

Which of the following is correct regarding report execution requests? 

A. A low affinity request is directed to the same process that served up the originating low affinityrequest if the process
is available and there is an available high affinity connection. 

B. A low affinity request can be processed using a high affinity connection when a low affinityconnection is not
available. 

C. An absolute affinity request does not require a connection because it has priority. 

D. A high affinity request can be processed using a low affinity connection if there are no highaffinity connections
available. 

Correct Answer: D 

 

QUESTION 3

Which of the following must be moved manually instead of as part of a Cognos 8 deploymentpackage? 

A. report output versions 

B. run history 

C. schedules 

D. system.xml 

Correct Answer: D 
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QUESTION 4

When examining an operational (transactional) database, which of the following is considered agood indicator as to
which tables contain fact data? 

A. Tables with the fewest number of columns 

B. Tables with the greatest number of rows 

C. Tables with the greatest number of foreign keys 

D. Tables with the fewest number of foreign keys 

Correct Answer: B 

 

QUESTION 5

A multi-server installation ofCognos BImust be performed. 

Which of the following is a validstrategy for installing across multiple servers? 

A. Separate the gateway component from other server components to restrict report requestprocessing to the Web
server tier. 

B. Enable dedicated request processing, by installing a dispatcher in the Web server tier to act asa primary dispatcher
for routing requests to other dispatchers. 

C. Scale the system vertically by installing one instance of all Cognos 8 services on a largercomputer capable of
managing more concurrent request threads. 

D. Enable load balancing of requests for content management services by installing multipleinstances of Content
Manager. 

Correct Answer: B 
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